Political Economy and Social Movements

 Keynesian Economics, 1/30/07, 2/6/07 --Pete Bohmer,  

 

I. Context for the development of Keynesian Macroeconomics

        A.  Classical Economics and Say's Law; Supply Creates its own demand

        B.  The Great Depression-inadequate response by most economists and policy makers:                                                                                                            balance the budget, protectionism and voluntarism. On left, common views—final crisis of capitalism, little government could or would do.  

      C. John Maynard Keynes

                 1. British upper class, professor and involved in policy, WWI, Bretton Woods

                 2. The General Theory of Employment, Interest and Money-Need for government                                        

                            policy and intervention to maintain a stable and full-employment economy

       D. Keynesianism—identified with a state that tries to maintain high employment, at least

             moderately interventionist. Keeps up aggregate demand, which is the main determinant of

             employment through government spending and deficit spending.

       E. Emphasis of social democratic parties, ISI in Latin America, U.S. from Kennedy through

            Carter years, switch in 1980 to monetarism of the Federal Reserve Bank.                

       F. Less hegemonic today—partly because of capitalist globalization, also its current version

            is more conservative—less focus on instability

     

 

III. Key Macroeconomic measurements (variables), concepts

      A. GDP = Gross Domestic Product (see pp. 412-413) of  BER

           Dollar Value of all final goods and services produced in a year =

            Consumption (C) + (Gross) Investment (I) + Government (production) (G) + Net

             Exports (Exports (X)  – Imports (M))

      B. Real GDP = GDP adjusted for inflation. % change in real GDP =% change in money GDP - % change in prices. Example,                     

        C. Per capita real GDP = real GDP/person

         D.  GDP – depreciation = National Domestic Product or NNP  

          E. Output = Income, so Net Domestic Product is approximately = National Income

           F. Business cycle—expansion and recession, pp. 406—also longer cycles

 

III.  Keynesian Macroeconomics--Key Concepts (begin here, 2/6/07)

A.           Instability of Capitalism

 

B.           Key determinant of output and employment is Aggregate Demand

 

        C. Aggregate Demand = Consumption + Investment + Government Spending + Net Exports             (Exports - Imports)

   1. Consumption is the largest component of AD, about 2/3 of spending    

                  a. Depends on level of income –Key Keynesian insight

                   b. Depends on the distribution of income, either wages and profits, or income,

                        Cambridge school—different from U.S. mainstream Keynesianism

     D. Basic Model

         I will follow BER and then explain it, pp. 418-422

         Idea of models-to explain some key relationships, e.g., multiplier, possibility of unemployment, how govt can reduce unemployment-very simplistic

         1. AD = AS is non full employment equilibrium,

           . For a given level of I, what will be level of output, employment,

             Macro-model—for each level of output corresponds a specific level of employment

 

       2. AS =yN =cwN+I=AD

    solve for N.   N* = I/(y-cw)

This is equilibrium output, where y is output per hour, c is propensity to consume out of wages

 

                           Y* =N*y= Iy/(y-cw)

                                  = I /(1-cw/y),

Higher is w/y, c the higher is output

 

Explain—see 424, Y* = (I+B)y/(y-cw) = (I +B)/(1-cw/y)

 

 

 

3. If investment increases by 1 dollar, output increases by more—Ruth Wilson Gilmore

     

    multiplier = y/(y-cw)—= 1/(1-cw/y)

see pp. 424

Numerical magnitude of  multiplier, about 2.2, Works both ways, Pittsburg example

 

4. Fiscal Policy—use of taxes and government spending to change   aggregate demand.

     1..  Expansionary Fiscal Policy recommended in period of  growing unemployment or in a                           

           recession

           a. Increase government spending (G) or Cut  Taxes (T); 

           b. Government deficit, B = G-T; increase deficit spending or  decrease surplus  in a                          

               recession.

           c. Note: States must balance budget, only federal government can pursue deficit spending      d. Effect of expansionary policy will be greater the more the tax cut is spent and the   faster govt. spending occurs. In model, the higher c, the higher w/y, the wage share,

             higher  is the multiplier                                               

e. Leakages such as imports reduce multiplier                

             f. Conservative economists argue multiplier will just mean higher prices.

 

       2.  Excess Aggregate Demand--Decrease government spending or raise taxes, contractionary fiscal policy

                       

            Conclusion-dangers of saying govt budget should be balanced, questions

 

5. Monetary policy

    pp. 432—refers to government influence on the rate of interest which is a determinant of investment, output, employment and in the longer run, productivity

    Many different interest rates, short term, long-term, borrowing, lending, Federal Reserve has big influence over rate, e.g. can set reserve ratio, open market operations, set some interest rates.

   Also effects some consumer spending.

 

In a recession, stagnation may have little effect—e.g., Japan in 1990’s, U.S. in 1930’s

However, can be powerful in choking off expansion, e.g, 1979

 

6. Investment . 

    Other factors besides interest rate, business climate, capacity utilization, present profits and future expected profits.

 

7. Wage led employment situation –growth in wages raises consumption more than it lowers investment so output and employment grow. The opposite is profit led employment situation where lower wages raise investment sufficiently so that Aggregate Demand (AD) increases even as consumption falls,. pp. 439-442 for technical details

 

Conclusion—Value of deficit financing and expansionary fiscal policy in a recession,

